From Maksim Ivanenko
for IT405
page 1

Homework Assignment #3.

Example of boot.ini file on my hard drive:

[boot loader]

timeout=30

default=multi(0)disk(0)rdisk(0)partition(1)\WIN2KS

[operating systems]

multi(0)disk(0)rdisk(0)partition(1)\WIN2KS="Microsoft Windows 2000 Server" /fastdetect

multi(0)disk(0)rdisk(0)partition(1)\WIN2KP="Microsoft Windows 2000 Professional" /fastdetect

multi(0)disk(0)rdisk(0)partition(1)\WINNT="Windows NT Workstation Version 4.00" 

multi(0)disk(0)rdisk(0)partition(1)\WINNT="Windows NT Workstation Version 4.00 [VGA mode]" /basevideo /sos

Explanation:

Boot.ini file contains 2 sections:

· Boot loader

· Operating systems

My computer contains MS Windows 2000 Server as default Operating System, which is booted if no other selection is made during 30 seconds specified as timeout.

User also could select during timeout 3 other booting files saved on my hard drive, which could load following Operating Systems:

· MS Windows 2000 Professional

· MS Windows NT 4.0

· MS Windows NT 4.0 VGA mode

Multi (0) indicates that non-SCSI drive is installed

Disk (0) shows that in this case there are no disks on SCSI chain used, because SCSI not available

Rdisk (1) indicates single channel controller with value 1

Partition (1) shows number 1 of partition

